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2. A g A =22y -x2+33, B=2xy> +2y°,C = 23 +,%9
tiste] (24 — B) + C & AASHA?

@ 2x% — 4x?y + 3y° @ x4 2x% —y?
® 2x3 4 4x%y - y? <@>x3 4 4x2y 43
® 2 +4°

(24-B)+C
= 4x%y - 2% + 2% = (<207 + 2%) + 2% + )
=x3 +4x%y +y3

(24— B) +C
=x3 +4x%y +y°




@—x5y4 @ —xy® ® x%°

@ xy°

@ —xhys

xy(=xy)® = 2y(=x’y%) = -2y




4. (x-2y-3222 A5l xo] BE HEAR o= B

D x? + 4y? + 9z% — 4xy + 12yz — 62x

@ x% —4xy+4y? — 9722 + 12y7 — 6zx
@x2 — (4y + 62)x + 4y? + 12yz + 972

@ 4y? +12yz + 92% + (—4y — 62)x + x*

® 922 +4y* + x2

(x =2y —32)% = x? — (4y + 62)x + 4y? + 12yz + 972




5.

1999 x 2001 o] 3f= Fote] & off, 714 A

® m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab + b?

@) (a-b)(a+b)=a?-p?

@ (x+a)(x+b) = x>+ (a+ b)x +ab

® a* +b? = (a+b)? - 2ab

A

et
o

1999 x 2001 = (2000 — 1) x (2000 + 1)
= 20002 — 12




(x3=3x%+3x+4) (x*+2x-5) 5 AN Ao A x? O] A5 F-5HA?

® 10 @ 15 ® 19 @ 21 (22)25

B

A A x2 2
1) (o123 x (A2Fa}) ol A] 1542 + 4x% = 1942
i) (LAF)x(LAF) oA 6x3
PO AFE19+6=25

X

I“F




7. x4+y=4, xy=3L4 W, x2 — xy +y? 9 3+ 15toi=t.

[ =t
[= ]

>
> ®™Ee: 7

Poxy+yr=(x+y)?-3xy=7
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@® 2 @ -2 ® -2x-2

@ 2x+2 ®)2x -2
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. (a+b)(a-b)=ad®-b?
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(a+b)(a-b)
(a+b)(a—b)

@I




10.

xof gt ohatA] x% +ax +bx+2 5
x+3°] HEE

> E:

> HE: ab= -6

a, b O #= AL W, ab TS T

¥ —x+ 12 the vejx7h
Fstelet.

~&B

ANAE A

3188 Aot
a=-2,b=3
ab = —6

Pt +hrt2=(F-x+1) A+ (x+3)

A= (x+p)
P ta +bx+2-(x+3)=(*-x+1)(x+p)
Brad+bh-Dx—-1=(EP-x+1)x-1) ~p=-




11. 4] 222 + bax — a?-& THHA] P(x) 2 Yie 20| x + 3¢, Y27}
2a> 4 ], 4] (x+ a)P(x) & Hrebd 2127
@D x? + 2ax — 24> @ x*-a?

® 2x%2 + 3ax + d? @ 2x% -3ax-a?

<@>2x2 + ax — a?

B

2x% + 5ax — a® = P(x)(x + 3a) + 2a? 0| B2

P(x)(x + 3a) = 2x? + bax — 3a*

whebA], TFeA] P(x) & 2x2+5ax—3a% & x+3a 2 e RO|B2
P(x)=2x-a

“ (x+a)P(x) = (x+a)(2x—a)

= 2x% + ax — d>




12.

G f () B vt g 02 RS W, BT YR AE (), ReHT

gte}. o] o, £ (x) B 3x 4 1 22 W B3 YA S 75hH?

® Q(x), R @ 30(x), 3R ® 30(x), R
1 1
@ gQ(x),R @ gQ(X), §R




13. x+y+z=1xy+yz+zx =2, xz=3< ™, (x+ Dy +1(z+1)
o] k& Fotofet

> E.

> ®™e: 7

(x+1Dy+1)(z+1)
=xyz+xy+yz+zax+x+y+z+1
=7




A

14. o5 A oA 34 &

flo

1=m?

rlo

@ (a+b+c)? =a®+b*+ c® + 2ab + 2bc + 2ca

@ (a+b+c)(a®+b*+c?—ab-bc-ca) =a’+ b+ ¢ - 3abc
® (a+b)? = a3+ 3a’b + 3ab® + b®

@ (a-b)® =a®-3a’b + 3ab® - b®

@(a +a+1)(a®-a+1)=a*-a*+1

® @+a+)(a*-a+1) =(a®+1)-
=a*+a’+1




15. A A abcol Mot a+b+c=2, a®>+b>+c? =6, abc = -1
Ao, a3+ b + 2 9 F2?

@1 o1 o601 @u 61

B ~

(a+b+c)?=a®+b?+c3+2(ab + be + ca)
ab+bc+ca=-1

ad+b+c3

= (a+b+c)(a*+b?+ c?—ab - bc - ca) + 3abc
=2x(6-(-1))-3=11




